
(تذكير ) الأعداد النسبية        إعدادي ثانوية الثاني السنة  
                              مقارنة عددين نسبيين (1

 يننسبيين دعدفرق  و ع وجمم (2

 
 عددين نسبيينجداء  (3

 
   محمد خاتمي و  محمد خوخي

(+1,5) + (2,5) = 4 

 
(−1) + (−2) = −3 

5 < 5,1         

 أمثلة

−3 < −2 

−1 > −2 

−3,5 < 1 

−4 < 0 < 4 

 

6 + (−8) = −2 

 
(−1) + 5 = −4 

 

4 + (−4) = 0 

−7 + 7 = 0 

 

1 − (−2) = 1 + 2 = 3 

−4 − 5 = −4 + (−5) 

               = −9 

 

−3 × (−2) = 6 

2,5 × 4 = 10 
 

3 × (−2) = −6 

5 × (−4) = −20 
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